1'-6"
# B B #
1"¢ SOLID ROD LEG
(GR. 50) FLANGE PLATE 3/4" GALV. HEX BOLT
W/HN, FW., LW. (TYP.)
SQUARE STOCK BAR
FLANGE PLATE—\
I T TIX ]
SHT. C—2 7 T T / SHT. C-2
= #T [ EHE [ L] ]
VI 74449 449449, I/I D
e “a
i |
S 1"¢ SOLID ROD LEG —
° (GR. 50)
l FLANGE PLATE SQUARE STOCK BAR (TOP OF FOUNDATION)
N A -
T
1/2" SOLD ROD [ Ll I 5/8" GALV. HEX BOLT
(TvP.) W/HN, F.W., LW. (TYP.)
1°¢ SOLID ROD LEG
(GR. 50) (TYP.)
SECTION A—A
SCALE: 3'=1-0"
SCALE: 1 1/2"=1'—0"
#A A FLANGE PLATE (TYP.)
. 1"8 SOLID ROD LEG
9 (GR. 50) (TYP.)
5
N
3/4% GALV. HEX
BOLT W/H.N, F.W.,
. SQUARE STOCK BAR
ET;P?OLID ROD LEG 5/8" GALV. HEX BOLT W/HN, FW.,
- LW. (TYP. 6 LOCATIONS)
TOP HINGE (NS & FS)
BASE FLATE—\ _\
. TOP & BOTTOM PLATE £
o NN NN
E \Q
) N |
HINGE (SEE SECTION
c-C) (TYP.) / \
TOP PLATE L 3/4 BOLT
BOTTOM HINGE (CHAMFER BOTH
SIDES)
SECTION C—-C
SCALE: 3"=1—0"
SEE DETAL 1 FOR
/ ENLARGED VIEW
‘ \
© FLANGE PLATE

EXIST. GROUND /
T ] T\ [

3 () L

%

il
X

"

TOWER FOUNDATION

Rosenberger

Rosenberger Site Solutions, LLC
T4 ) Call 1.866.598.5250 or visit www.RLSS.us
— o

<
(2
®
®
7s

.

SECTION B—B NOTES:
TOWER ELEVATION SCALE: 3"=1'-0"
SCALE: 3/16' = 1'-0"

1. TOWER RUN PER TIA-222-G, 90MPH STRUCTURE CLASS 1, EXPOSURE B,
TOPO CATEGORY 1.

ALL STRUCTURE MEMBERS SHALL BE GALVANIZED PER ASTM A123.
ALL GALVANIZED BOLTS TO BE ASTM A325 UNLESS OTHERWISE STATED.

2
3.




.~ ‘ N

5/8% GALV. HEX BOLT W/H.N, FW.,
LW. (TYP.) (TYP. 6 LOCATIONS)

s

/®

FLANGE PLATE (FS) (TYP. 3
LOCATIONS)

3/4"® GALV. HEX
BOLT W/H.N, F.W.,

| LW. (TYP)
®\ 1/ ® <§§5§ !
P ~ 4 N HINGE (SEE SECTION
o= C—C ON SHT. C—1)
-
@ e
HINGE (SEE SECTION
C—C ON SHT. C—1)
e
® <
/ \
. )
- N
ﬁ/*/ \r\&
A
N / \ A
7 @
L _1® O
SQUARE STOCK BAR —
SECTION D-D

SCALE: 3"=1'-0"

Rosenberger

Rosenberger Site Solutions, LLC
Call 1.866.598.5250 or visit www.RLSS.us




